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They went and ROTated the flag by 5 and then ROTated it by 8! The scoundrels! Anyway once they were done this was all that was
left VprPGS{jnvg_bar_cyhf 1_vf 3?7}
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def encrypt(plaintext):

for j in (26):
str_list (plaintext)
i=290
while i (plaintext):
if str_list[i].isalpha():
str_list[i] str_list[i]
else:
a if str_list[i].isupper() else
str_list[i] (( (str_list[i])
i+ 1

print( (str_list).replace( 5 ).replace( ).replace( ).replace( ).replace(
.strip())

def decrypt(plaintext2):
for j in (26):
str_list (plaintext)
i=290
while i (plaintext):
if str_list[i].isalpha():
str_list[i] str_list[i]
else:
a if str_list[i].isupper() else
str_list[i] (( (str_list[i])
i+ 1

print( (str_list).replace( 5 ) .replace( ) .replace( 5 ) .replace( ).replace(
.strip())

if _ _name__
plaintext
decrypt(plaintext)
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